AW C  Sebidoms




S talt tomsrasfz

EP"-—i

Z. e =
[

2 prus=n




\ ST

Fz= b Tl Koy o = T NLFEs + T T WL~

4 5: 5 ~SAT - P&'V &-ﬁzﬂmﬁﬁj

: _fgﬁw% i,,._.,n,mﬁ f%ﬂ'

. }L__ iéﬂﬁ};ﬁ 5%%MZ

e == Tl T 2= e




, My = Vg

L SPR [2TmenT)T Ml fNay g
— }bﬁ Fiig bV h

ngg W;’%%

fln ; i
-3

y* !
I
Ak % [eoo £,
Lﬂsi—n
" T
i=ts, T A,
g
2. ngﬁ;
S




lﬁslj

. *\‘:9 ——

,79‘5%& &"ﬁdﬁa@ﬁ?m ﬁm ﬁ%@?&a@g‘ﬁk BPI ﬁéc
3 %&.T‘"é& eﬁiﬁmgsc

R qnitonT,
L .

e
T e

w{e“‘ ﬁ;!g‘gg-i\g_ww

(ji«u wm iadiafee .

() dU = TdS=pdis v




@) Stnw &=c, d8=0.

Jy K?Q%T = wf

Wooedne L Ap =Dt d7 =
F A ¥

g (2.3

. Ta= 273 K

TS %%

3

0.







